	Action


	Description

(by Algorithm)
	Description

(in words)

	Preparation

(what should be done before

Entering position)


	
	From the current bar look back at the previous 2 bars and look for  on of the 4 price bar patterns
1. Outside Bar
2. Inside Bar

3. Key Reversal Bar

4. Two Bar Reversal
Each pattern should be able to be individually selected for use i.e. so if some I only want to use inside bar on a particular pair I can just select that pattern.

	Enter Position
(which condition 

Should exist in
order to enter 
position, how
should this 

conditions be 

calculated)
	Long
	Outside Bar, The close of the outside bar should be higher than the open and higher that the bar midpoint the open of the current bar should open equal or higher than the close of the outside bar order A Buystop order should be placed on the high of the outside bar if it is not executed within the next 4 bars cancel order. See picture below
Inside Bar, The close of the inside bar should be higher than both the close and the bar midpoint The current bar must open equal or higher than the close of the inside bar a BuyStop order is to be placed at the high of the inside bar if the order is not hit within the next 4 bars cancel order. See picture below
Key Reversal Bar, The open of the key bar should be at least ?pips lower than the low of the previous bar. The close of the key bar should be with in the low and close of the previous bar. The open of the current bar should be higher than the close of the key bar. A Buystop should be place on the high of the key bar if it is not executed within the next 4 bars then cancel the order. See picture below
Two Bar Reversal, The open of the first bar should be near the low the previous bar and the close should be much lower and have a good size body. The open of the second bar should be very near the close of the first bar but both should be well below the midpoint of each bar with the close to be very near the low 2 bar previous. A BuyStop Order should be place at the high of the bar 1 if it is not executed within 4 bars cancel order. See picture below


	
	Short
	Outside Bar, The close of the outside bar should be lower that the open and lower than the bar midpoint the open of the current bar should open equal or lower than the close of the outside bar A SellStop order should be placed on the low of the outside bar if it is not executed within the next 4 bars cancel order. See picture below
Inside Bar, The close of the inside bar should be lower than both the close and the bar midpoint . The current bar must open equal or lower than the close of the inside bar a SellStop should be placed at the low of the inside bar if the order is not hit within the next 4 bars cancel order. See picture below
Key Reversal Bar, The open of the key bar should be at least ?pips higher than the high of the previous bar. The close of the key bar should be with in the high and close of the previous bar. The open of the current bar should be lower than the close of the key bar. A SellStop order should be place on the low of the key bar if it is not executed within the next 4 bars then cancel the order. See picture below
Two Bar Reversal, The open of the first bar should be near the high of the previous bar and the close should be much higher and have a good size body. The open of the second bar should be very near the close of the first bar but both should be well above the midpoint of each bar  with the close to be very near the high of 2 bar previous. A SellStop Order should be place at the low of the bar 1 if it is not executed within 4 bars cancel order. See picture below


	
	
	


	Closing open

Positions:

(Condition for

Closing open 

Positions, how

should 

positions be

closed)


	Long
	With 

Profit

Target
	
	???

	
	Long
	With

Loss
	
	

	
	Long
	Other

signals

(i.e. trailing stop)
	
	3 bar trailing stop count back 3 bar and place a stop loss 2 pips below the lowest bar when counting back do not count the inside bars skip to the next bar,  when a new bar opens perform the same task and move the trailing stop loss if able to. If due to broker stop loss restrictions place the stop as close as possible to the next bar target and move it until the next bar target is hit then repeat for each new bar

	
	Short


	With 

Profit

Target
	
	???

	
	Short


	With

Loss
	
	

	
	Short


	Other

signals

(i.e. trailing stop)
	
	3 bar trailing stop count back 3 bar and place a stop loss 2 pips higher than the highest bar when counting back do not count the inside bars skip to the next bar,  when a new bar opens perform the same task and move the trailing stop loss if able to. If due to broker stop loss restrictions place the stop as close as possible to the next bar target and move it until the next bar target is hit then repeat for each new bar

	Action


	Description (by

Algorithm)
	Description ( in words)

	After Position is Closed

What should be done


	
	

	Additional Signals

(all other signals for entering and

Closing position)


	
	

	Money Management for this Strategy

(changing numbers of contracts

According to P&L)


	
	Allow micro trading for the trading system 0.01 (A loss is a loss but I like then to be small)
RULES:.
Only one trade per pair
Max Loss 2% ($2500 = $50 / Stop “36”=1.38 per pip
Take Profit = ?

Maximum Equity Risk = 10%

	Parameter Name

	Description
	Default Values

	Inside Bar
OutSide Bar
Key Reversal Bar
Two Bar Reversal
3Bar Stop pips
Lots
TakeProfit

Maximum Equity Risk

Monthly Target

Pair Contribution

Current Position 

	This is the number of pips set above or below selected stop Bar

This is the total risk for all position added together i.e. 10% 2500 = 250 so if we use the max loss as above us can only open a max of 5 positions.

Nice to Have on Each Pair

This is the percentage increase on the balance from the previous month 

The current contribution to the monthly target from each pair shown on each pair.
This is the total of all positive minus all negative positions in relation to the monthly target shown as a percentage e.g. 25% of target or 125%  of target
	True / False
Must engulf the previous 2 BarsTrue/False
Adjustable body diff True / False

True/False

2

0.01

250

10
10


General Description of Strategy:
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Numerical Example of Strategy:

	Equity
	3755

	Risk
	2%

	Total Risk
	 £       75.10 

	$ Per Pip
	 £        3.95 

	Entry- StopSpread
	19

	Entry
	1.2404

	3Bar Stop
	1.2423

	Close
	1.2306

	Pips Profit
	98

	Total Profit
	 £     387.36 


